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import math

#HREREE

def calcStdWeight(height,howto):
#UFICO—REBRELTLIZE 0,
#ZIFT

#TOR

def display(weight,stdWeight):
#UFICO—REBRELTLIZE 0,
#ZIFT

#AT(CO—RZEBELTLSZELN,

#ZIFT

stdWeight = calcStdWeight(height,howto)
display(weight,stdWeight)
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import math

#=ARZOEE
def heron(a, b, c):
s=(a+b+c)/2
return math.sqrt(s * (s - a) * (s - b) * (s - ¢))

#ZULDRESZAN
distances = [float(input()) for i in range(3)]

t=IlDRSZRIC=AFOREZET

print(round(heron(*distances),1))
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import pandas as pd

#UEHESH
def is_num(s):
try:
int(s)
return True
except ValueError:
return False

#BROBEMZRIZ. BIENZH
def height_num(height):
if is_num(height):
return float(height)
elif height[:1] == "m":
return float(height[:1])
elif height[:2] == "cm":
return float(height[:2])
else:
return None

HAEOEMZRIZ . BIENZH
def weight_num(weight):
if is_num(weight):
return float(weight)

elif weight[:2] == "kg":
return float(weight[:2])
else:

return None

#A

n = int(input())

s = [input().split(',") for i in range(n)]
df = pd.DataFrame(s)

#HIRHU

df.columns = ['name', 'height', 'weight']

#ZTHA
df[ 'height']
df[ 'weight']

df[ 'height'].apply(height_num)
df[ 'weight'].apply(weight_num)

#HD
print(df.height.mean())
print(df.weight.mean())
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M1 BXEEN / HBE K / BES(L:155
IEZA)

min = 100
max = @
num = int(input())

for i in range(num):
value = int(input())

if min > value:

min = value

if max < value:

max = value

print (f"{max}¥n{min}")

IEZAB

B2 £EHE / #BE K / BEY(L:155
IEZEH
types = [10000, 5000, 1000, 500, 100, 50, 10, 5, 1 ] #&%&
#AT(CO—RZEBELTLSZEN,
price = int(input())
for type in types:
count = price // type

price %= type
print(count)

#ZZFEXT

M3 FREGRE / HMBE : P / BEIML:209
IEZEH

import math

HREREE
def calcStdWeight(height, howto):
#ATF(CT—RZEBELTLZEL,
if howto ==
return math.floor((height - 100) * 0.9 * 10) / 10
else:

return math.floor((height / 100) * (height / 100) * 22 * 10) / 10

#ZZFT

#RR
def display(weight, stdWeight):
#ATF(CT—RzEBELTLZEL,
print(stdWeight)
if weight > stdWeight :
print("over")
#ZIFET

#ATF(CO—RzEBRELTLEE,
height = float(input())
weight = float(input())

howto = int(input())

#ZFET
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stdWeight = calcStdWeight(height, howto)
display(weight, stdWeight)

B4 FHOHE / HBE :p / BESLAL: 20D
1IEZEAA1
err = 0
s_year = int(input())
s_month = int(input())

e_year = int(input())
e_month = int(input())

if not(1 <= s_year <= 9999 and 1 <= e_year <= 9999) :

err = 1
if not(1 <= s_month <= 12 and 1 <= e_month <= 12) :
err = 1

if (s_year * 100 + s_month) > (e_year * 100 + e_month) :
err = 1

if err == :
print(" AJHERIE")
exit()

dYear = e_year - s_year
if e_month < s_month :

dYear-=1

dMonth = 12 + e_month - s_month
else:

dMonth = e_month - s_month

print(f"{dYear}fE{dMonth}/8")

M5 =ZAROEER / MBE & / BEY(L:2550
=l

import math

#=ARZOEE
def heron(a, b, c):
s=(a+b+c)/2
return math.sqrt(s * (s - a) * (s - b) * (s - ¢))

#2 sAEIDRERH

def calc_distance(vartexl, vartex2):
dx = vartex2[@] - vartexl1[0]
dy = vartex2[1] - vartex1[1]
return math.sqrt(dx**2 + dy**2)

#IEDEEAN
vertexes = [list(map(int,input().split())) for i in range(3)]

#RDDRSZEL

distances = [calc_distance(vertexes[i], vertexes[(i+1)%3]) for i in range(3)]

t=lDRcZRIC=AFOREZET

print(round(heron(*distances), 1))
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import pandas as pd

#HUENEDSH
def is_num(s):
try:
float(s)
return True
except ValueError:
return False

#BROEMZRIR. BIENZEHR
def height_num(height):
if is_num(height):
return float(height)
elif height[-2:] == "cm":
return float(height[:-2])
elif height[-1:] == "m":
return float(height[:-1]) * 100
else:
return None

#HAEDHEMZRIR . BIENZEHR
def weight_num(weight):
if is_num(weight):
return float(weight)

elif weight[-2:] == "kg":
return float(weight[:-2])
else:

return None

#AN

n = int(input())

s = [input().split(',") for i in range(n)]
df = pd.DataFrame(s)

#HIRHU

df.columns = ['name', 'height', 'weight']

#Z2HA

df[ 'height'] = df['height'].apply(height_num)

df[ 'weight']

df.dropna(inplace=True)

#Hh
print(df.height.mean().round(1))
print(df.weight.mean().round(1))

df['weight'].apply(weight_num)

13 / 13



